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January 31, 2019

DO NOW

foot, how far are you from your friend?

You are a block away from a skyscraper that is 780 feettall. Your friend
is between the skyscraper and yourself. The angle of elevation from your
position to the top of the skyscraper is 42°. The angle of elevation from
your friend’s position to the top of the skyscraper is 71°. To the nearest
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As shown below, a canoe is approaching a lighthouse on the coastline of a lake. The front of the canoe is
1.5 feet above the water and an observer in the lighthouse is 112 feet above the water.

112 feet

( Not drawn to scale)

canoe traveled toward the lighthouse.

At 5:00, the observer in the lighthouse measured the angle of depression to the front of the canoe to be 6°.

(Five minutes Jaten the observer measured and saw the angle of depression to the front of the canoe had
increased by 494 Determine and state, to the nearest foot per minute, the average speed at which the
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